CARMEET:10.

Coefficiente di sicurezza: 4

Nota: awitare a mano

Safety ratio: 4
Note: to be screwed by hand

R0O724-20-0001 04 MB x 13 . 25 10 10 45
R0O724-20-0002 0.8 M8 x 13 8 0.09 25 45 25 10 10 45
R0O724-20-0003 1 M10x17 16 0.11 25 45 25 10 10 45
R0724-20-0004 16 M12 x 21 28 0.27 35 63 35 14 14 62
R0O724-20-0005 3 M14 x 21 45 0.29 35 63 35 14 14 62
R0O724-20-0006 4 M16 x 27 70 0.31 35 63 35 14 14 62
R0724-20-0007 5 M18 x 27 95 0.84 50 90 50 20 20 90
R0O724-20-0008 6 M20 x 30 135 0.86 50 90 50 20 20 90
R0O724-20-0009 7 M22 x 36 182 09 50 90 50 20 20 90
R0724-20-0010 8 M24 x 36 230 0.9 50 90 50 20 20 90
R0O724-20-0011 10 M27 x 45 343 1.66 60 108 65 24 24 109
R0O724-20-0012 12 M30 x 45 465 17 60 108 65 24 24 109
R0724-20-0013 14 M33 x 54 632 2 70 126 75 26 28 128
R0O724-20-0014 16 M36 x 54 814 2.15 70 126 75 26 28 128
R0O724-20-0015 24 M42 x 63 1304 415 80 144 85 30 32 147
R0724-20-0016 32 M48 x 68 1981 6.2 90 166 100 35 38 168
R0O724-20-0017 36 M56 x 78 3000 8.8 100 184 110 38 42 187
R0O724-20-0018 45 MB4 x 80 4736 124 110 206 120 42 48 208




F F
! > —
i 90° i 90°
\D"—BD"
° Al
CARMEEE:]0,
& 1 0° 04 | 08 | 1 16 | 3 4 5 B8 7 8 |10 | 12 | 14 | 16 | 24 | 32 | 36 | 45
A
0 0 2 0° 08 | 16 2 | 32 | B 8 10 | 12 | 14 | 16 | 20 | 24 | 28 | 32 | 48 | 64 | 72 | 90
G
2 0°-45° 014 028 035 056 1 14 | 18 | 21 | 24 | 28 | 35 | 42 | 48 | 56 | 84 | 112|126 | 157
A
2 | 45°-B0° D1 02 025| 04 075 1 |125| 15 175 2 | 25| 3 | 34 39 59 78 |88 MU
3-4 | 0°-45° D2 |04 05|08 | 15 2 |25 | 3 35| 4 5 6 | 68| 78 118 156 176 | 22
%
3-4 |45°-80° 014 028 035 056 1 14 | 18 | 21 | 24 | 28 | 35 | 42 | 48 | 54 | 82 | 109 | 123 | 157




